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Final exam L3 Energy conversion 2023-2024 
 

EXERCICE 1 : Rankine Cycle ( نقطة 12 ) 
 

A 25 MW (Wnet) steam power plant is a Rankine cycle with boiler pressure of 8 MPa and condenser 

pressure of 50 kPa. The moisture content of the steam at the turbine outlet x= 16%. 

1. Draw the cycle on the T-s diagram below, numbering the device inlet/outlet points. Name the 

device that corresponds to each process in the table below. Give the property or properties that 

is/are constant for each process. Give the heat or work interaction for each process with the 

appropriate sign (+or-)  

2. find the temperature of the stream at the turbine inlet 

3. Calculate the efficiency of the power plant 

4. The temperature at the turbine inlet is raised to 550 °C AND the condenser pressure is  

lowered to 20 kPa.  

4.1 The amount of heat input to the boiler will increase, decrease or stay the same, Justify 

your answer 

4.2 The quality of the steam at the turbine outlet will increase, decrease or stay the same, 

Justify your answer 

4.3 The amount of heat rejected will increase, decrease or stay the same, Justify your 

answer 

4.4 The cycle efficiency will increase, decrease or stay the same, Justify your answer 

 

ميجا باسكال وضغط مكثف   8صافي( هي دورة رانكين بضغط غلاية يبلغ  Wميجاوات ) 25محطة توليد الطاقة البخارية بقدرة 

 . x = 16٪كيلو باسكال. محتوى الرطوبة في البخار عند مخرج التوربين  50يبلغ 

  الجهاز الذي يتوافق مع كل عملية في  مع ترقيم نقاط مدخل / مخرج الجهاز. قم بتسمية،  T-sارسم الدورة على مخطط  .1
 ( - . أعط الخاصية أو الخصائص الثابتة لكل عملية. أعط الحرارة أو تفاعل العمل لكل عملية بالإشارة المناسبة )+أوجدول

 أوجد درجة حرارة التيار عند مدخل التوربين .2

 كفاءة محطة توليد الكهرباء أحسب .3

 كيلو باسكال.  20خفضت إلى درجة مئوية وضغط المكثف  550التوربين إلى  يتم رفع درجة الحرارة عند مدخل  .4

 ستزيد كمية الحرارة المدخلة إلى الغلاية أو تنقص أو تبقى كما هي ، برر إجابتك 4.1

 ستزيد جودة البخار في مخرج التوربين أو تنقص أو تبقى كما هي ، برر إجابتك  4.2

 تنقص أو تبقى كما هي ، برر إجابتك ستزيد كمية الحرارة المرفوضة أو  4.3

 ستزيد كفاءة الدورة أو تنقص أو تبقى كما هي ، برر إجابتك 4.4
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Vapeur surchauffée 

 

 

 

 

EXERCICE 2 : Carnot Cycle ( نقاط 8 ) 
 

A Carnot cycle which uses water vapor as a heat carrier. A source at a temperature of 250°C 

transmits its heat to the heat carrier as it changes from a saturated liquid state to a saturated vapor. 

The heat is removed at a pressure of 10 kPa. 

We give :  according to the thermodynamic tables, at: 

  P= 10 kPa we have the corresponding saturation temperature = 45.81 °C  

 T=250°C; liquid entropy Sl =2.7927 kJ/kg.K and vapor entropy Sv =6.0730 kJ/kg.K 

1. Represent the cycle in the T.S diagram 

2. Determine: 

2.1 The thermal efficiency of the cycle 

2.2 The amount of heat evacuated 

2.3 The net work produced 

 

درجة مئوية حرارته إلى الناقل    250دورة كارنو التي تستخدم بخار الماء كحامل حرارة. ينقل مصدر عند درجة حرارة 

 كيلو باسكال.   10الحراري أثناء تغيره من الحالة السائلة المشبعة إلى بخار مشبع. تتم إزالة الحرارة عند ضغط 

 نعطي : وفقا للجداول الديناميكية الحرارية ، في: 

  P = 10  = درجة مئوية  45.81كيلو باسكال لدينا درجة حرارة التشبع المقابلة 

T = 250   درجة مئوية ؛ إنتروبيا السائلSl = 2.7927  .كيلو جول / كجمK  وإنتروبيا البخارSv = 6.0730   / كيلو جول
 Kكجم. 

 T.S. تمثيل الدورة في مخطط 1

 . تحديد: 2

 الكفاءة الحرارية للدورة  2.1

 كمية الحرارة المفرغة  2.2

 صافي العمل المنتج 2.3

 


